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ACCOUNTANCY AND BUSINESS STATIQTICS

Second Paper : Cost Accountancy
Time : Three Hours Maximum Marks © 100

‘ UNIT-VZaTE-1
. Explain the meamng of the following terms : ded+d+4+4
(a) Cost {by Costing 3ol

i) Cost accounting
{e) Cost Centre

(d) Cost accountancy
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Rcc:md the following transaction in the Store Ledger of ‘A’ Limited :20
‘v’ fefas F1 =R EraTagI H e e wl e

2016 April 1 Opening balance 140 umls @ ¥ 10 per unit.
2016 April 15 Receipt 250 units costing ¥ 3,125

Receipt 100 units costing < 1,300

2016 June 7 Issue 120 units
2016 July 10 Receipt 60 units @ ¥ 14 per unit
2016 August 4 Issue 150 units

2016 September 7
2016 October 3
2016 November 5 Receipt-240 units costing I 3,290
2016 December 18 : Issue 120 units :
The issues on June 7, August 4, October 3 and December 18 were priced at
LIFO, FIFO, simple average and weighted average respectively.
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UNIT-I/ZsTE-11 _
What is the difference between Allocation, Apportionment and Absorption
of Overheads 7 Discuss various methods of absorption of factory

Receipt 75 units costing T 937.5
Issue 230 units

overheads. 8+12
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During one week the worker ‘X' manufactured 200 units, He received
wages for a guaranted 45 hours week at the rate of ¥ 15 per hour. The time
allowed to produce one unit is 15 minutes which is increased by 20% in
case of piece rate system. Calculate his gross wages under each of the
following methods of remunerating labout : 5+5+5+5
{a) Time Rate {(b) Piece Rate :
{c) Halsey Premium Plan, 50% Bonus; and rtuonline.com
{d) Rowan Premium Plan . ’
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3. A factory can produce 2,40,000 units per annum at 100% capacity. The

cost of production is estimated as follows : 20
Direct Material 6 per unit; Direct labout ¥ 4 per unit [Subject to minimum
of T 48,000 per month); Fixed overheads ¥ 3,24,000 per annum; variable
overheads T 4 per unit; semi variable overheads T 1,20,000 per annum
upto 50% capacity and an additional ¥ 45,000 per annum for every 20%
Increase in capacity or a part there of. Scrap resulted from each unit is sold
at ¥ 0.40. In 2016 the factory worked at 50% capacity for the first four
mong:s but it is expected to work at 80% capacity for the remaining eight
months.

The selling price per unit was T 24 during the first four months. What
price should be fixed for the remaining eight months to yield a total
profit of T 4,36,000.
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_ Or/319ar
What do you mean by unit or output costing ? In which industries is it
used ? Prepare a cost sheet by taking imaginary figures. 10+5+5
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A transport company owns a bus which runs between J aipur and Ajmer for
10 days in a month. The distance from Jaipur to Ajmer is 150 kilometers,
The bus completes the trip from Jaipur to Ajmer on the same day. The bus
goes another. 10 days in a month towards Sikar. The distance from J aipur
to Sikar is 120 kilometers. This trip is also completed on the same day.
Afier this bus operates for 4 days in the local Jaipur city, covering 40
kilometers per day. In remaining days bus remained idle. Calculate the
rate that the company should charge from passengers to earn a profit of

1.7 _ :
33-5 % on the total taking. The other information are as follows -
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Cost of Bus rtuonline.com T 0,00,000
Normal Capacity of Bus 50 passengers
Depreciation ' 109 per annum
Salary of Driver T 4,750 per month
Salary of Conductor ¥ 3,500 per month
Salary of Accountant (Part time) 9,000 per annum
Insurance T 6,600 per annum
Diesel consumption 8 kms per litre costing T 52 per litre
Road Tax _ ¥3,600 per annum
. Lubricating oil < 250 per 100 kms
Repairs and Maintenance ‘T 2,500 per month
Permit fee < 1,420 per month

The bus generally occupies 90% of capacity during its to and fro journey
towards Ajmer and 80% of capacity during its to and fro journey towards
Sikar. Bus is always full when it runs with in the Jaipur city, Passenger tax
is 20% of its net taking,
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UNTIT-IV/ZFE-IV

. What is meant by contract costing method 7 Where this method is used ?

‘What are the different methods of calculating profit on an incomplete

- contract 7 Explain with illustrations. 345+10
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A product passes t.hrough three processes P, (3 and R. The dewails of-
éxpenses incurred on the three processes during the year 2015-16 were as

under : ) 5+5+5+45
TF IR 9 whEael- 0, g @ A § e € g 2015-16 § A
Wi v o 18 =i faan freran € '

ProcessP ProcessQ Process R
Units Issued @ T 50 per unit 1000 — -

4 I T
Sundry Matetials 1,000 1,500 500
Labour 2,600 8,000 6,392
Direct Expenses 600 1.B15 2,720
Selling price per unit of output 70 100 200
Normal loss on the input 5% 15% 20%

Actual output of the three processes was-Process - P : 930 units; Process -
Q : 540 units; and Process R : 210 units. Two third output of Process ‘P’
and half output of 'Q" was passed on to the next process and the balance
was sold. The entire output of process ‘R’ was sold. The units of normal
loss of process - ‘P* was sold at T 1 per unit, that of ‘Q" at T 3 per unit and
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that of process - ‘R’ at T 6 per unit. Selling and: distribution expenses
duting the year were ¥ 9,000. These were not apportioned to the process
accounts but considered while preparing the costing P & L account.
You are required to prepare the three process Accounts and costing P& L
account for the year,
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UNIT-V/Z&HE-V :
5. "Z’ Lid. furnishes the following information for the year 2015-16 :

13’ fafties gAY 2015-16 % o0 P QI WA FIE & ¢ 5454545

Particulars April to September | October to March
N 2015 | 2016
z | z
| Sales 13,50,000 15,00,000
Total Cost 12.00,000 12,90,000

Assuming that fixed expenses are incurred uniformly in both the period.
Calculate the following for the year 2015-16.
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(i) Fixed Expenses (Frag@+d) .

(i1} Break-Even sales ( ®T9-3wmy fas!) rtuonline.com

(iii) Margin of safety (3R&n =1 mfs) )

(iv). Sales to earn a profit of 10% on sales (&I T 10% o F97 &g faaih)

. Or/319gar '
Explain the following variances with suitable examples 5+5+543
FefetEn fe=rol =1 Sugea STl #1 Farad § T |
(i} Labour Rate Variance 79 T foaror '
(i) Labour Efficiency Variance % %14 Fveral forawo
(ili) Labour Mix Variance g9 fagu fa=wm
(iv} Labour Yield Variance 79 39T fa=m
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